

# ACRICULTURAL COMMISSIONER SEALER



AGRICULTURAL BUILDING-COUNTY CIVIC CENTER-VISALIA, CALIFORNIA 93291 (209) 733-6391 CLYDE R. CHURCHILL

1986

CLARE L. BERRYHILL, DIRECTOR CALIFORNIA DEPARTMENT OF FOOD AND AGRICULTURE

AND

THE HONORABLE BOARD OF SUPERVISORS COUNTY OF TULARE

Clyde R. Gould, Chairman
Lori Mangine LeRoy Swiney
John R. Conway Ben Webb

John Mc Clure County Executive Officer

#### Gentlemen:

In accordance with the provisions of Section 2279 of the California Agricultural Code. I am pleased to submit the Annual Agricultural Crop Report of the acreage, production and valuation of the agricultural commodities produced in Tulare County during the calendar year 1985.

This report is the result of information gathered from many sources, and as always, it must be emphasized that the figures are gross returns to the producer and do not indicate actual net profit.

I wish to express my sincere appreciation to all the producers, processors and agencies, both private and governmental, who assisted in compiling this report. I would also like to thank all the members of my staff, without whose input, the publication of this report would be impossible.

Respectfully submitted,

Clyde R. Churchill Agricultural Commissioner/Sealer

CRC: mak

#### AGRICULTURAL COMMISSIONER/WEIGHTS & MEASURES Clyde R. Churchill

#### ASSISTANT AGRICULTURAL COMMISSIONER/WEIGHTS & MEASURES William R. Clark

DEPUTY AGRICULTURAL COMMISSIONERS William R. Appleby Bernis E. Naylor C. Lynn Thomas

SEALER, WEIGHTS & MEASURES John O. Pennington

SUPERVISING AGRICULTURAL INSPECTORS Gary Kunkel Hector Prieto George Simpson

> STAFF BIOLOGIST R. Dennis Haines

#### SUPERVISING WEIGHTS & MEASURES INSPECTORS

Manuel Villicana

Jerry Wallace

#### DISTRICT AGRICULTURAL INSPECTORS

Bobby Bonds H. Edward Campbell Bobby J. Chilton Greg Dunbar

Christopher Francone David Gould Kenneth Hodson Thomas La Munyon Gerald Miller

Loren Sansom Jack Sisson Candice Smice Deogracias Tigulo Thomas Zikratch

#### AGRICULTURAL INSPECTORS

John Akana Marjorie DeShon Richard Dinwiddie Craig Edwards Rafael Garcia, Jr.

Bert Gayden Kelly LeGrand Robert Milner John Moreno Gabriella Nunez

Helen Overstreet Kathleen Parvin Robert Rainey Mike Rice John Schultz Sherry Watkins

#### WEIGHTS & MEASURES INSPECTORS

William Bragg

Steve Clay Bob Mann

James Qualls

OFFICE

SECRETARY II Melissa S. Kelly

SENIOR CLERK TYPIST Bonnie Garvin Rosemarie Miller

INTERMEDIATE CLERK TYPIST Lisa Renee Martinez Phyllis Jameson

Reported by: Gary Kunkel, Supervising Agricultural Inspector Cover By: Candice Smice, District Agricultural Inspector

#### DIVERSITY

Our 1985 Crop and Livestock Report cover graphically illustrates several of Tulare County's leading crops and commodities. The widely-diverse nature of these orchard crops, field crops and livestock products has consistently provided Tulare County with a stable economic base —— even during today's period of dynamic change in the agricultural marketplace.

This diversity of crops is due in part to the nature of our climate and soil conditions. Tulare County includes Mount Whitney, the highest point in the lower 48 states, as well as the valley floor. Soil types range from rich sandy loam to the fine clays of the Tulare Lake Basin. Our weather provides for an almost year-round growing season, yet can range from below freezing in the winter to well above 100 in the summer.

The current top ten crops — Oranges, Dairy Products, Grapes, Cotton, Plums, Cattle, Alfalfa Hay, Nectarines, Silage and Walnuts — themselves represent over one billion dollars in direct income to Tulare County. They provide the foundation for a wide variety of related services not only in the agribusiness community, but in the county as a whole. Its difficult to imagine any type of business here in Tulare County that does not owe at least a portion of its success to our well established agricultural base.

Looking at the leading crops, one can't help but notice that they span the spectrum from foothill cattle grazing to orchard and vine crops to field crops on the valley floor. Unlike many places that must rely heavily on a single type of crop and whose fortunes rise and fall as the crop rises and falls, we here in Tulare County enjoy a broad agricultural base that enables us to succeed in a wide variety of conditions and economic situations.

Additional benefits of the diverse nature of our leading commodities include the following:

- \* A buffer is provided in the event of climatic disaster. With the varied types of commodities, different growing areas and different periods of vulnerability, it is unlikely that severe weather would adversely affect all of the crops simultaneously.
- \* Another very important buffer is provided against insect or disease injury. Again, for reasons similar to the above, it is unlikely that a new insect pest or disease would affect all of the crops.
- \* Yet another benefit lies in the potential for year-round farm related jobs. The various crops (and the varieties within crops) now provide work well beyond the traditional "harvest season".

These factors, varied elevations, soil types and climatic conditions when combined with others such as: available labor, extensive packing and shipping facilities, well-developed markets and the related businesses available, make Tulare County the productive agricultural county that it is today.

# TULARE COUNTY AGRICULTURAL ACREAGE STATISTICS

ORCHARD	BEARING ACREAGE	NON-BEARING ACREAGE	TOTAL ACREAGE
CITRUS			
Grapefruit	285	13	298
Lemons	4,730	48	4,778
Limes	13	X	13
Navels	55 <b>,</b> 063	928	55,991
Valencias	21,920	560	22,480
Tangerines	1,373	33	1,406
TOTAL	83,384	1,582	84,966
DECIDUOUS AND GRAPES			
Almonds	10,367	531	10,898
Apples	151	153	304
Apricots	286	81	367
Avocados	1,744	64	1,808
Cherries	43	X	43
Figs	48	Х	48
Grapes	OF <b>77</b> F	2 175	20, 252
Table	25,775	3,175	28,950
Raisin	38,475	1,668	40,143
Wine	14,479	580 221	15,059
Kiwi Nectarines	803 7 <b>,</b> 619	372	1,024 7,991
Olives	13,531	312 345	13,876
Peaches	10,001	رجر	13,070
Cling	1,382	14	1,396
Freestone	4,045	162	4,207
Pears & Apple Pears	251	99	350
Pecans	275	309	584
Persimmons	352	86	438
Pistachio Nuts	1,225	1,471	2 <b>,</b> 696
Plums	14,738	1,024	15 <b>,</b> 762
Pomegranates	1,731	134	1,865
Prunes	4,304	879	5,183
Quince	100	3	103
Walnuts	24,585	1,643	26,228
Miscellaneous A/	16	1	17
TOTAL	166,325	13,015	179,340
Total Grapes	78,729	5,423	84,152
Total Orchard Crops	170,980	9,174	180,154
TOTAL	249,709	14,597	264,306

A/ Includes: Plumcot, Jojoba, Guava/Feijoa

1984 - 85 FIELD CROPS: ACREAGE, PRODUCTION AND VALUE

Crop	Year	Harveste	ed Per	Product	tion	Val	ue
		Acreage _	Acre ———	Total	Unit 	Per Unit	Total.
Barley	1985	23,000	2.19	50,400	Ton	106.00	5,342,000
	1984	25,000	2.22	55,500	Ton	120.00	6,660,000
Beans - Dry	1985	10,900	1.03	11,200	Ton	412.00	4,614,000
	1984	10,000	1.11	11,100	Ton	480.00	5,328,000
Corn - Field	1985	14,000	4.06	56,800	Ton	104.00	5,907,000
	1984	14,000	3.26	45,600	Ton	120.00	5,472,000
Cotton - Lint A/	1985	156,160	1,200.00	379,000	Bale	60.30	114,140,000
	1984	181,280	1,050.00	385,000	Bale	66.60	128,050,000
Cotton Seed	1985	X	X	149,000	Ton	105.00	15,645,000
	1984	X	X	157,000	Ton	120.00	18,840,000
Hay - Alfalfa	1985	93,500	7.69	719,000	Ton	82.40	59,246,000
	1984	90,000	8.48	763,000	Ton	85.00	64,855,000
Grain	1985	3,500	3.25	11,400	Ton	61.00	695,000
	1984	1,600	4.50	7,200	Ton	65.00	468,000
Pasture & Range	1985	20,000	X	X	Acre	110.00	2,200,000
Irrigated	1984	17,000	X	X	Acre	130.00	2,210,000
Native	1985	800,000	X	X	Acre	10.00	8,000,000
	1984	900,000	X	X	Acre	10.00	9,000,000
Other	1985	23,000	X	X	Acre	15.00	345,000
	1984	23,000	X	X	Acre	15.00	345,000
Silage	1985	71,000	21.70	1,541,000	Ton	19.70	30,358,000
	1984	72,400	18.40	1,332,000	Ton	20.50	27,306,000
Sorghum Grain	1985	4,900	2.38	11,700	Ton	95.00	1,112,000
	1984	6,500	2.08	13,500	Ton	110.00	1,485,000
Sugar Beets	1985	2,300	25.00	57,500	Ton	30.00	1,725,000
	1984	2,200	26.40	58,100	Ton	32.90	1,911,000

1984 - 85 FIELD CROPS: ACREAGE, PRODUCTION AND VALUE

Crop Ye		Harvested	Per	Product	tion .	Valu	ie
•		Acreage	Acre	Total	Unit	Per U <u>n</u> 1t	Total
Wheat	1985 1984	43,500 47,000	2.42 2.73	105,000 128,000	Ton Ton	103.00 123.00	10,815,000 15,744,000
Miscellaneous	<u>B</u> /1985 1984	491 570	X X	X X	X X	X X	1,479,000 1,624,000
TOTAL .	1985 1984	1,266,251 1,390,550					261,623,000 289,298,000

A/ Yield per acre in pounds lint, production total in 495 lbs. net weight bales, Unit value in dollars per lint hundredweight.

B/ Includes Rice, Safflower, and Straw.

1984 - 85 SEED CROPS: ACREAGE, PRODUCTION AND VALUE

Crop	Year	Harvested Acreage	Per Acre	Product Total	ion Unit	Value Per Unit	Total
Cotton-Registered or Certified A/	1985	5,490	X	2,530	Ton	168.00 <u>B</u> /	425,000
	1984	6,860	X	3,030	Ton	474.00	1,436,000
Vegetables for Seed $\underline{D}/$	1985	144	X	X	X	X	324,000
	1984	48	X	X	X	X	63,800
Wheat-Registered or Certified	1985	9,610	2.80	26,900	Ton	150.00	4,035,000
	1984	4,240	2.73	11,600	Ton	136.00	1,578,000
Miscellaneous <u>C</u> /	1985 1984	743 1,536	X	X	X	X X	391,000 823,000
TOTAL	1985 1984	10,497 5,824					5,175,000 3,900,800

A/ Not included in total acreage for "Seed Crops".

1984 - 85 VEGETABLE CROPS: ACREAGE, PRODUCTION AND VALUE

Crop	Year	Harvested	Per	Produc	tion	Valu	ue
		Acreage	Acre	Total	Unit	Per Unit	Total
Cucumbers - Fresh	1985 1984	441 410	15.40 11.20	6,790 4,590	Ton Ton	321.00 447.00	2,180,000 2,052,000
Tomatoes - Fresh	1985 1984	1,025 924	12.20 16.00	12,500 14,800	Ton Ton	450.00 389.00	5,625,000 5,757,000
Miscellaneous A/	1985 1984	6,880 5,920	X	X X	X X	X X	14,838,000 18,715,000
Total	1985 1984	8,346 7,254					22,643,000 26,524,000

B/ Includes \$27.00 Per acre approval.

C/ Includes Alfalfa, Barley, and CowPeas.

D/ Includes Beets, Lettuce, Mustard, and Turnips.

A/ Includes: Asparagus, Bittermelon, Broccoli, Bush Berries, Cabbage, Carrots, Cauliflower, Crenshaw Melons, Eggplant, Gourd, Honeydew Melons, Lettuce, Long Beans, Okra, Onions, Peppers, Potatoes, Spinach, Squash, Sugar Peas, Strawberries, Sweet Corn, Tomatoes (Processed) and Watermelons.

1984 - 85 FRUIT AND NUT CROPS: ACREAGE, PRODUCTION AND VALUE

Crop	Year	Harvested	Per	Produc	ction	Value	
		Acreage	Acre	Total	Unit 	Per Unit	Total
Almonds - Meats	1985	10,367	.62	6,430	Ton	1,280.00	8,230,000
	1984	9,636	.79	7,610	Ton	1,700.00	12,937,000
Hulls	1985	X	X	16,300	Ton	52.00	848,000
	1984	X	X	19,300	Ton	52.00	1,004,000
Apricots	1985	286	5.88	1,680	Ton	735.00	1,235,000
	1984	241	7.09	1,710	Ton	900.00	1,539,000
Avocados	1985	1,744	2.83	4,940	Ton	1,080.00	5,335,000
	1984	1,882	•99	1,860	Ton	449.00	835,000
Grapes - Total	1985	78,729	X	X	X	X	184,325,000
	1984	79,176	X	X	X	X	194,830,000
Raisin Varieties	1985	38,475	7.81	X	X	X	X
	1984	38,703	7.35	X	X	X	X
Canned	1985	X	X	22,100	Ton	165.00	3,646,000
	1984	X	X	15,200	Ton	105.00	1,596,000
Crushed <u>D</u> /	1985	X	X	84,400	Ton	70.00	5,908,000
	1984	X	X	88,500	Ton	81.70	7,230,000
Dried	1985	X	X	25,600	Ton	815.00	20,864,000
	1984	X	X	23,000	Ton	600.00	13,800,000
Fresh	1985	X	X	69,000	Ton	556.00	38,364,000
	1984	X	X	63,300	Ton	685.00	43,360,000
Juice	1985	X	X	18,400	Ton	350.00	6,440,000
	1984	X	X	22,200	Ton	382.00	8,480,000
Table Varieties	1985 1984	25,775 26,204	7.05 5.79	X X	X X	X	X
Crushed	1985	X	X	33,700	Ton	67.80	2,285,000
	1984	X	X	26,600	Ton	68.70	1,827,000
Fresh	1985	X	X	148,000	Ton	622.00	92,056,000
	1984	X	X	125,000	Ton	797.00	99,625,000
Wine Varieties	1985 1984	14,479 14,269	9.44 8.27	X X	X X	X	X
Crushed	1985	X	X	130,000	Ton	98.00	12,740,000
	1984	X	X	107,000	Ton	142.00	15,194,000
Juice	1985	X	X	6,740	Ton	300.00	2,022,000
	1984	X	X	11,000	Ton	338.00	3,718,000

1984 - 85 FRUIT AND NUT CROPS: ACREAGE, PRODUCTION AND VALUE

Crop	Year	Harveste	d Per	Produ	ction	Valı	ue
		Acreage	Acre	Total	Unit	Per Unit	Total
Grapefruit - Fresh	1985	285	8.09	2,310	Ton	335.00	774,000
	1984	273	4.86	1,330	Ton	428.00	569,000
Kiwi <u>A</u> ∕	1985	803	7.41	5,950	Ton	1,790.00	10,650,000
	1984	598	8.56	5,120	Ton	2,070.00	10,598,000
Lemons - Fresh A/	1985	4,730	12.80	32,000	Ton	638.00	20,416,000
	1984	4,744	10.70	28,500	Ton	420.00	11,970,000
Processed	1985	X	X	28,500	Ton	40.00	1,140,000
	1984	X	X	22,300	Ton	45.00	1,004,000
Nectarines - Fresh	1985	7,619	8.82	67,200	Ton	522.00	35,078,000
	1984	7,501	9.80	73,500	Ton	422.00	31,017,000
Olives - Canning	1985	13 <b>,</b> 531	4.50	40,100	Ton	557.00	22,336,000
	1984	13 <b>,</b> 459	4.13	28,900	Ton	475.00	13,728,000
Other	1985	X	X	20,800	Ton	245.00	5,096,000
	1984	X	X	26,700	Ton	288.00	7,690,000
Oranges - Navel $\underline{A}/$	1985	55,063	8.81	422,000	Ton	446.00	188,212,000
	1984	55,044	12.50	505,000	Ton	396.00	199,980,000
Processed	1985	X	X	62,900	Ton	65.00	4,088,000
	1984	X	X	183,000	Ton	44.00	8,052,000
Valencia <u>A</u> /	1985	21,920	11.80	197,000	Ton	398.00	78,406,000
	1984	21,721	7.74	143,000	Ton	639.00	91,377,000
Processed	1985 1984	X X	X	61,400 25,100	Ton Ton	81.00 84.00	4,973,000 2,108,000
Peaches - Cling	1985	1,382	23.50	32,500	Ton	170.00	5,525,000
Processed	1984	1,373	22.40	30,800	Ton	186.00	5,729,000
Freestone —	1985	4,045	7.95	32,200	Ton	630.00	20,286,000
Fresh	1984	3,895	10.80	42,100	Ton	408.00	17,177,000
Pears & Apple	1985	251	5.40	1,360	Ton	1,110.00	1,510,000
Pears	1984	237	2.66	630	Ton	949.00	598,000
Persimmons	1985	352	4.95	1,740	Ton	1,150.00	2,001,000
	1984	345	5.65	1,950	Ton	1,280.00	2,496,000
Pistachio Nuts	1985	1,225	1,020.00	1,250,000	Lbs.	1.65	2,062,000
(Dry Wt.)	1984	1,050	1,520.00	1,600,000	Lbs.	1.23	1,968,000

1984 - 85 FRUIT AND NUT CROPS: ACREAGE, PRODUCTION AND VALUE

Crop	Year	Harvested	Per	Produc	tion	Va	alue
		Acreage	Acre	Total	Unit	Per Unit_	Total
Plums - Fresh	1985	14,738	6.13	90,300	Ton	777.00	70,163,000
	1984	14,062	8.37	118,000	Ton	481.00	56,758,000
Pomegranates	1985	1,731	3.11	5,380	Ton	677.00	3,642,000
	1984	1,771	5.08	9,000	Ton	429.00	3,861,000
Prunes - Processed	1985	4,304	3.57	15,400	Ton	625.00	9,625,000
	1984	4,355	2.20	9,580	Ton	679.00	6,505,000
Tangerines <u>B</u> /	1985	1,373	8.26	11,300	Ton	523.00	5,910,000
	1984	1,389	7.38	10,300	Ton	422.00	4,347,000
Walnuts	1985	24,585	1.63	40,100	Ton	700.00	28,070,000
	1984	24,990	1.32	33,000	Ton	726.00	23,958,000
Miscellaneous <u>C</u> /	1985 1984	646 429	X	X X	X X	X X	2,532,000 1,342,000
Total	1985 1984	249,709 248,171					722,468,000 713,977,000

D/ Includes green weight raisins for distillery materials.

A/ Includes production from young orchards officially classified as non-bearing.

B/ Includes Tangelos and Tangors.
C/ Includes Apples, Cherries, Figs, Limes, Pecans, Processed Pears, Processed Apricots, Processed Nectarines, Processed Plums, Quince, Plumcot, Jojoba, Guava/Feijoa.

1984 - 85 NURSERY PRODUCTS: SALES AND VALUE

Item	Year	Quantity Sold	Unit	Per Unit	Total
Citrus and Subtropical	1985	185,000	Each	6.60	1,221,000
Trees	1984	81,200	Each	5.92	481,000
Deciduous Fruit and	1985	415,000	Each	4.26	1,768,000
Nut Trees	1984	388,000	Each	5.08	1,971,000
Grape & Berry Vines	1985	2,132	M	400.00	853,000
	1984	6,524	M	350.00	2,283,000
Herbaceous Ornamentals & Cut Flowers	1985	X	X	X	1,598,000
	1984	X	X	X	1,286,000
Ornamental Trees & Shrubs	1985	777,000	Each	4.97	3,862,000
	1984	624,000	Each	7.00	4,368,000
Miscellaneous A/	1985	X	X	X	1,332,000
	1984	X	X	X	946,000
Total	1985 1984				10,634,000 11,335,000

 $<sup>\</sup>underline{\mathtt{A}}/$  Includes Citrus (Buds, Cuttings & Scions), Christmas Trees, Ground Cover, Olive Trees, Turf and Vegetable & Flower Plants in Flats.

1984 - 85 LIVESTOCK AND POULTRY: PRODUCTION AND VALUE

Item	Year	No. of	Total	Unit	Val	Value	
		Head 	Liveweight		Per Unit	Total	
Cattle & Calves	1985	155,700	X	Head	398.00	61,969,000	
	1984	129,600	X	Head	427.00	55,339,000	
Lambs	1985	1,550	147,200	Lbs.	.683	101,000	
	1984	1,550	147,200	Lbs.	.597	88,000	
Hogs & Pigs	1985	70,700	X	Head	107.00	7,565,000	
	1984	68,600	X	Head	113.00	7,752,000	
Broilers & Fryers	1985	267,000	1,202,000	Lbs.	•337	405,000	
	1984	1,232,000	5,544,000	Lbs.	•360	1,996,000	
Pullets	1985	130,000	X	Each	2.70	351,000	
	1984	422,000	X	Each	2.70	1,139,000	
Turkeys	1985	688,000	14,448,000	Lbs.	.416	6,010,000	
	1984	1,065,000	22,365,000	Lbs.	.420	9,393,000	
Miscellaneous <u>A</u> /	1985 1984	X	X X	X X	X	1,260,000 1,521,000	
Total	1985 1984					77,661,000 77,228,000	

 $<sup>\</sup>underline{A}/$  Includes Catfish, Crickets, Gamebirds, Geese, Goats, Horses, Pigeons, Rabbits and Sheep.

1984 - 85 LIVESTOCK AND POULTRY PRODUCTS: PRODUCTION AND VALUE

Item				Va	.lue
	Year 	Production	Unit 	Per Unit	Total
Milk - Market	1985	21,821,000	Cwt.	12.00	261,852,000
	1984	19,861,000	Cwt.	12.73	*252,831,000
Manufacturing	1985	105,000	Cwt.	11.06	1,161,000
	1984	68,200	Cwt.	11.86	*809,000
Eggs-Chicken-Market	1985	997,000	Doz.	.65	648,000
	1984	7,848,000	Doz.	.641	5,031,000
Miscellaneous	1985	X	X	X	2,764,000
	1984	X	X	X	897,000
Total	1985 1984		-		266,425,000 *259,568,000

1984 - 85 APIARY PRODUCTS: PRODUCTION AND VALUE

Item	Year	Production	Unit	Per Unit	Value Total
Honey - Orange A/	 1985	1,074,000	Lb.	.62	666,000
Other	1984 1985	9,112,000	Lb.	.62 .58	5,649,000 532,000
Beeswax	1984 1985 1984	1,718,000 70,600 81,800	Lb. Lb.	.60 1.05	1,031,000 74,100 95,700
Pollination <u>B</u> /	1984 1985 1984	34,900 34,900	Colony Colony	1.17 23.00 17.65	803,000 616,000
Total	1985 1984			<u>-</u>	2,075,100 7,391,700

 $<sup>\</sup>underline{A}$ / From bee colonies registered in Tulare County during 1985 citrus bloom period.  $\underline{B}$ / Estimated number of colonies required for adequate pollination.

<sup>\*</sup> Revised

1984 - 85 FOREST PRODUCTS: PRODUCTION & VALUE

Item	Reporting			Value	
	Year	Production	Unit	Per Unit	Total.
Timber Harvested A/	1985 1984	63,258,000 57,180,000	Board Ft. Board Ft.	0.065 0.053	4,112,000 3,051,000

A/ Previous year's production & value based on information provided by Timber Tax Division, Property Taxes Dept., State Board of Equalization.

# SUMMARY

COMMODITY	YEAR	HARVESTED ACREAGE	VALUE
FIELD CROPS	1985	1,266,251	261,623,000
	1984	1,390,550	289,298,000
SEED CROPS	1985	10,497	5,175,000
	1984	5,824	3,900,800
VEGETABLE CROPS	1985	8,346	22,643,000
	1984	7,254	26,524,000
FRUIT AND NUT CROPS	1985	249,709	722,468,000
	1984	248,171	713,977,000
NURSERY PRODUCTS	1985	X	10,634,000
	1984	X	11,335,000
LIVESTOCK AND POULTRY	1985	X	77,661,000
	1984	X	77,228,000
LIVESTOCK AND POULTRY	1985	X	266,425,000
PRODUCTS	1984	X	<b>*</b> 259,568,000
APIARY PRODUCTS	1985	X	2,075,100
	1984	X	7,391,700
AGRICULTURAL TOTAL	1985	1,534,803	1,368,704,100
	1984	1,651,799	1,389,222,500
FOREST PRODUCTS	1985	X	4,112,000
	1984	X	3,051,000
GRAND TOTAL	1985	X	1,372,816,100
	1984	X	*1,392,273,500

<sup>\*</sup>Revised

### 1985 MILLION DOLLAR PRODUCTS

1 Output Novel 0 Well-unde	679,000 1 ,013,000 2 ,325,000 3 ,210,000 4
2. Milk 3. Grapes 184 4. Cotton - Lint & Seed 130 5. Plums 6. Cattle & Calves 7. Alfalfa Hay 8. Nectarines 9. Silage 10. Walnuts 11. Olives 12. Peaches - Freestone & Cling 13. Lemons 14. Wheat 15. Kiwi 16. Pasture & Range 17. Prunes 18. Almonds 19. Hogs & Pigs 20. Turkeys 21. Tangerines 22. Corn - Field 23. Tomatoes - Fresh 24. Barley 25. Avocados 26. Beans - Dry 27. Forest Products 28. Seed - Wheat 29. Nursery - Ornamental Trees/Shrubs 30. Pomegranates 31. Cucumbers 32. Pistachio Nuts 33. Persimmons 34. Nursery - Deciduous Fruit & Nut Trees 35. Sugar Beets 36. Nursery - Herbaceous & Cut Flowers 37. Pears & Apple Pears 38. Apricots 39. Nursery - Citrus & Subtropical 40. Honey	210,000

<sup>\*\*</sup> Reported at less than one million dollars in 1984.

# TWENTY YEARS COMPARISON OF AGRICULTURAL INCOME IN TULARE COUNTY 1965 - 1985

1965	324,221,000
1966	373,408,000
1967	364,729,000
1968	376,443,000
1969	378,849,000
1970	408,039,000
1971	402,550,000
1972	463,191,000
1.973	580,729,000
1974	682,454,000
1.975	714,740,000
1976	743,327,000
1977	770,428,000
1978	900,861,700
1979	1,239,814,400
1980	1,340,559,400
1981	1,301,921,200
1982	1,316,016,300
1983	1,245,238,100
1984	*1,392,273,500
1985	1,372,816,100

<sup>\*</sup> Revised